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TOPIC 3.2

The Circular Flow of Income

1. In a closed economy, the full employ-

ment level of income is $200 million.

C;EK‘
4

I= $(50-5r) million,
where C = consumption,

Y =income,

I = investment,

r = the rate of interest.
If planned government expenditure is
$30 million, what rate of interest would

be required for there to be full employ-
ment?

A 2% per annum
B 4% per annum
C 6% per annum
D 8% per annum
[J08/P3/020]

In the diagram, C, shows the initial
relationship between consumption
and national income.
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'3." Which of the following correctly iden- Q
tifies net leakages from the circular
flow of income?:
trade surplus governmentibudget private sector
(exports - imports) | deficit (government | surplus (saving -
_ spending - taxes) investment)
A v SN e ]
B v X "
C x v Y
D x X v
- [J09/P3/Q16]
- il Pl
4. A country’s initial consumption Y=C+I+G
function is C,. 200=2(200)+50-5
A . S ' , +30
P ‘, ‘ . r=6
soit g , 12 D A decrease in
= C, MRT results in an in-
g : — C ~ crease in MPC, hence,
E e — 2 consumption  function
2 ~ " shifts pivotal upward.
8 ") o di ! . Options A and B are
unrelated and option C
. shifts consumption func-
_tion downward. .
O >

consumption

-

o national income

What could cause the consumption
function to shift to C,?
an increase in exports
an increase in investment
a decrease in the rate of unem-
ployment benefits
a decrease in the standard rate of
income tax

[J08/P3/Q21]

personal disposable income

What would be most Iikely to cause
the consumption function to shift
from C, to C,?

A a decrease in personal disposable
income

B a decrease in the expected future

rates of i income tax
C an mcrease in mterest'rates
an increase in wealth

[J09/P3/Q18]

3. D Trade surplus

‘and budget deficit both

result in net injections
whereas private sector
surplus suggests that the
level of saving is larger
than the level of invest-
ment, resulting in 2 net
leackage.

4. C Arisein interest
rate causes C 10 fall at
each level  of income,
therefore, shifting C func"
tion parallel downwarult
Options A, B_andDr es
in an increase in b
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d economy Wwith no govern- 8,7 Out of any addition to national in- HELPS | MCQ
v 0

fn 8 ¢10%¢ y, where C is ¢
e 30+ 0.7Y, where &5 €ofi= . come, 20 % is spent on imports, 15 %
n:lmption and Y is 1ncome. is paid in taxes, 5% is saved and the
§ . cquilibfi“m level of income is 300, _;eStv Is spent on domestically-pro-
m " ihe level of investment? uced goods,
Wha S it What is the value of the multiplier?
\ 0 D, e T Brtlingis 4! B 5 5 A C=30+0.7(300)
c 20 & gl b ow | cea
[J09/P3/Q19] GEE 5 \ Y-C=$§
[NO9/P3/Q19] 300 — 240 = 60
. the saving and
¢ diagram shows s . i
. ?:‘Vcstme“t curves of a closed 9. The diagram shows a number of th ,\tjhye ;q:ull!bnum e
expenditure functions. The original '

y with no government.
6. B Inthe graph ac-

tual output is where NY
is in equilibrium i.e. S = |

econom . o
expenditure function is shown by E.

e e e e

» /ll-év A : { E1 :
25 e 3 &t whereas potential output
3E A E, is Yp
w a P !
] N T 1 S
g | E 7. C It=a(vt-Yt-1)
- ," J: 9 )
s ! | =)
L2 oG H | 5 E, F (AYXa=4l)
7 j S year | (assuminga=|)
/’&45‘/ E - g E, Al ::
0 PZiE Yo output 2 10
Y 3 15
; . 4 20
The potential level of output is OY,. e . > 5 15
, B7. 00 income -
Which distance measures the gap . 6 10 ]
between actual and potential output? = * - -The government announces a de- °
, _ o) . crease in government expenditure on g A MPS=0.2
A IG B Gi ... .. goods and services and reduces the MPT = 0.15
C H b K i standard rate of income tax. MPM = 0.05
[J09/P3/Q20]" . wWhich line shows the new expendi- - 1 3
.. ture function resulting from these K=MPS+MPT+M I
T. The table gives the national income of changes? om0 : ; .
a country over six years. ’ ’ ' 25=—
! years ) A E B E ™
| year | national income (Y) Qi G Ey D E, 9 B Decreas
I 2100 , [N09/P3/Q20]  shifts E function
2 2110 : downward whe,
3 2125 10. The diagram shows the relationship standard rate
: 4d shifts E fu
4 between household . income an ot LR
5 2145« [ household consumption.... oo bl
2160 e i s
<82 2170 SR ‘ ‘ C,
Accord:
| i Wl:::;l}? gto th? accelerator principle,
I 04 lz':ar did net investment first
b o e ¢l below that of the previ- household
f A consumption
§ Year 3
}5 Year s B year 4
. D year 6

[NOQ/P3/QI 8] 0o househo!d Income
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.+»What would be likely to cause the

household consumption curve to shift -

from C, to C,?

A a decrease in houschold income

B adecrease in the value of house- .

hold assets
C an increase in interest rates

D an increase in the expected future
level of household income:

[J10/P3/Q17]

11. The diagram shows a consumption

function for a closed economy with
no government,

3

consumption

45°'

L |-

iﬁcome
What can be concluded from the dia-
gram? - . :

A . At income levels below oy,
saving is negative.

B Atincome levels below OY, there ,

is an inflationary gap. ;
" C The eciuilibrium level of income is
OY. ,
D The marginal propensity to ,
" consume increases as income

\ " “Vincreases,

[J10/P3/Q18]
12, When national‘inlc‘ome' equals $40 000
million and government spending
equals $15 000 million, an economy is
in equilibrium below full employment.
Out of every increase of $100 in na-
tional income, $15 is taken in taxes,
$30 is spent on imports and $5 is
saved.

To raise national income to the full
employment level of $50 000 million, to
which level will the government need
to raise its own spending?

13.

A $15500 million
B $20000 million
C $25000 million | !
D $35000 million o !

[10/P3/0197 . 10

What is not a leakage from the circylas
flow of income? { (

A expenditure on foreign goods
indirect taxes

B
- C undistributed profits
D

14,

consumption

15.

unemployment benefits It ee
[N10/P3/Q16]

The diagram shows the relationship
between consumption expenditure
and income.

A

O income

- Which statement is correct?, |

A "The average propensity to, _

"~ consume is constant.

B The average propensity to -
consume is rising. T

- C The marginal propensity to

consume is equal to the average
propensity to consume. ‘

D The marginal propensity to
consume is less than the ¥
average propensity to consume.

[N10/P3/Q19]

In a closed €conomy with no govern-
ment the full employment level of in-
come = $400 billion and the equilib-_
rium level of income = §380 billion.

If the deflationary gap is $4 billion,
what is the marginal propensity to

consume? :
N | 1
A 5 B 7
3 4
[N10/P3/020]

R

Hence optigng « ° .
are incorrggy
householg i, ey
Cause moyg en g
the C function,

A p income |

below Oy, ¢ functi::)e;s
drawn above 45°; :
C>Yand§is Z
Options B ¢ ¢ Cannot bé
concluded from ¢ funclion
alone whjle MPC ge.
Creases'as income rises
hence D s incorregt,

128 MPT =5
 MPM=03
MRS =005
 MPL=05

It follows that K == »

05

$1%000 5000

Govemment spending
must increase from
$15000 ‘to $20000 mi-
lion.

13. D Government

spending is an injection.

14. D  Autonomous
consumption causes e
value of APC to be highef
than the value of MPC.

Hence 4x5=2
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i uce the value of the - - _J
k 16.. hat wmt:::ﬂltiplier'? : price level national output HELPS wtMCQ {
invcstmeﬂ . A i p . !
low marginal propensity to fse rise |
A “lmport ' B rise unchanged i
l v 0
! B qutomatic stabilisers 1 C unchanged rise '16i B :\n alutomatjtt;] rise
: ! ‘ X rate alon an
i ¢ low marginal taX rates Dj unchanged unchanged ;2c:aase in nago‘glal in- ‘
. p lowratesof unemployment [N1/P3/Q20]  Come dampens the size
! penefit ' ' , of investment multiplier. -
\ J11/P3/Q15 ' : e A lower value of MPM
: L ; Q. / 20. I.n t.}1e dlagram, Y indicates the equi-  and MPT is likely to gen-
; ; ) librium level of income c_on‘esponding " erate a higher value of
. 17, The diagram shows a consumption to different levels of investment. ~ multiplier thus A & C are
| function. ‘ Lo incorrect. Option D does
\ 4 e P Ye not affect the size of
>. ‘ y i 4 multipler.
6 c v ' .. 47.D A decreasing
! 2 : . slope of C function sug-
z € equilibrium gests that as Y rises both
. g income MPC and APC fall, thus
b v ‘ - ~ the values of both MPS |
i ik : — ' and APS must rise be- i
‘ 0  personal disposable income ) o v ' cause  1—=MPC = MPS, i
| ' : and 1-APC=APS.
! As income increases, what happens "o Ll - s £
' investment . ., 18 B MPT=0.1 -

to the average propensity to save and

the marginal propensity to save? - disposable income;

What does the slope of the line Yg .
i . A-MPT=Yd

— - © " measure? RAIE
QYCIRES marginal o therefore, - 1-0.1=0.9
propensity to save propensity tosave| . - A the investment multiplier " o
A|  decreases decreases B the: marginal propensity to save and §x0.9=0.75
B|  decreases  increases C the rate of growth of investment . ipc 1-0.75=0.25" '
C| increases, decreases D the rate of growth of national e '
D| increases increases income : o -0_2_524
1 i J12/P3/021 2 ek
| [J11/P3/Q16] £ 021 - - Lo -
i : , , ‘ ' 19. B
18. In 2 closed : .. 21.In the diagram, C is an economy’s _
$0.10 ; e¢ economy, hous.eholds pay initial relationship between consump- E;;;? i AS
10 in tax on every $1 increase in tion and national income s
, ) exy | : - P2
their gross income, and spend -Z— of 5 ¥, ' c
every increase in their disposable i 1 | g : -
come, - posable In- C ' | ADY
by C o T AT —>
What ; 2 ‘ “Yf * real
atis the Va!ue of the multiplier? c | L%Ellput
Als . B 40 5 1 TN
C 6p 5B © ANY
D 75 E 20. A K:T
! 7] ides
@ /
. | [N11/P3/018] g A change:in investment
« What will be ¢ : ; i1 ~ causes a proportionately
»On the pri ¢ effect, in the short, larger change in NY equi-
OUtput of Enlc,e level and on national lbrium. N
Mang j¢ . | CIcaSe in aggregate bl

fir ) ’ =] ' .
“apaciyg ms are working at full = o ' , .
fe it - national income BHSSEL T
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- Which curve could show the
economy’s new consumption function
following a reduction in the rate of
unemployment benefits? ;

A C B G
c ¢ D C,
[J12/P3/022]

22. In a closed economy with no govern-

ment, the level of investment is $5
million, the equilibrium level of income
is $22 million, the full employment
level of income is $25 million and there
is a deflationary gap of $1 million.

What can be deduced from this infor-
mation? '

A The mérginal propensity to

consume is %

The marginal propensity to

consume is %

B

The value of the investment
multiplier is 5. T TRT

The value of the investment
multiplier is 1.5.

25.

[N12P3018]

23: The table gives the national income of
a country over six years.

year | national income (Y)
1 2100
2 2110
3 21254
4 2135
5 2140 -
6 2135,

According to the accelerator principle,
in which year did net investment first
fall to a level below that of the previ-
ous year?

A ‘year 3 B year 4
C year5 D year 6
[N12/P3/Q19]

24, During a recession, a government in-
creases its expenditure on goods and

services by $10 million but leaves tax
rates unchanged.

26.

C

Why might the subsequent 'increase'"

in national income be less than $1¢. \

million?
A
increases interest rates,

B: The marginal propensity to con-
sume is less than 1,

The marginal propensity to import
is greater than 0.

There is no accelerator effect on
investment. , _
S [N12/P3/Q28]

In an economy, the marginal propen-
sity to consume of the unemployed is
higher than that of taxpayers.

The government increases expenditure
on unemployment benefits by $10
million.

What will the government need to do

if it wishes to keep aggregate demand
unchanged?

A raise taxation by.lyess than $10

million . ¥
raise taxation by more than $10
million i

raise taxation by $10 million

leave taxes unchanged '

1N12/P3/Qsoj

B’
D

Which correctly identifies injections
into a country’s circular flow of
income? B ‘

private sector government sector| trade sector
iR S W< T S R RV ES S
Al .110; yes ) yes
B yes no’ no
Y yes g yes | no
D no no ~yes
' [J13/P3/020]
27. What will increase the multiplier effect

of an increase jn government spend-
Ing on national income?

A
B
C

an increase in direct taxation
an increase in interest rates
an increase in the marginal .
Propensity to consume =
an increase in the marginal
Propensity to import
[J13/P3/029)

Increased government borrowing

2.8 Investmens i
the function of ratg
change in Ny, A fall n
the rate of increasg iy
.NY Suggests a fa j
Increase in the loye| o

«net investment,

“28. A Impact of

increase in govemment
spending will be offsel
by increasing interest
rate leading to a fall i
both consumption and -
vestment,

25. B Tax payers have
lower MPC and therefore
lower size of multiplir.

2.-C | &G are inje¢-
tions and both are higper
than their respective wil
drawals. tn the trade s&¢
tor X is an injection &nd [
is less than its respeci¥é
withdrawal (M).

27. C The higher lhe
value of MPC the I:arger is
the size of multipliet & '
hence the greater 1
fect of governmgnt spe
ing on national incore:
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nomny, the marginal propen-

Al"

0
In an €€
P sity 10 consu
higher than that of taxpayers.
The govcmment increases expenditure
h

on anemployment benefits by $10 m

and incred

What will
demand? '
A Itwill be unchanged.

B It will
million. | ‘
It will increase by $10 million.

C
1t will decrease by $10 million.

D

What will cause the level of invest-

9
’ o fall according to the accelera-

ment t
tor model?

A adecrease in business confidence
B adecrease in the rate of growth of

national income
C an increase in the price of
capital equipment
D an increase in the rate of interest
[J14/P3/Q18]

30. In a closed economy with no govern-
ment, consumption is 4/5 of income at
all levels of income.

The present equilibrium level of
income is $220 million.

The full employment level of income is
$240 million,

By how much would investment have
0 increase to reach full employment?

A $2million B $4million
C $16million D $20 million
[J14/P3/019]

i, ;
L Other things being equal, what will

result in a decr .
€ase In a
deman & ggregate

A .o
a decrease in interest rates

a decrcasc i !
nthe b
deficit alance of trade

a decreaSe i !
in the government’s
Udget deficit ¢

8 decreage i
: ase in t
ing ratio, he household sav-

[J14/P3/Q20]

me of the unemployed is"

ses taxation by $10 million.’
be the impact on aggregate

increase by less than $10 ‘

[NI3/P3/020]

32. In a'closed economy with no govern-

2:33.

34.

35.

ment C=40+0.8Y and 1= 60, where C -

Is consumption, Y is income and‘I is

investment. ; ' RIIPRET

What is the equilibrium level of
income? ity /
A 80 B 100

C 300, "D 500
N [N14/P3/023]

| (3 8 |

Which is not 'an injection into a
country’s circular flow of national in-
come? |

A inward direct investment by.
‘- multinational corporations:

B private gross domestic fixed
capital formation

*C. the sale of governmént bonds
to members of the public

D wages:paid to civil servants

[J15/P3/019] . |
' 3. C A fallin budget

The national income is initially in
equilibrium. e

If there is an increase in exports,
which change of equivalent value will
restore national income to its initial
equilibrium level? S

A a decrease in imports

B a decrease in investment

C an increase in government expen-

diture on goods and services

D a reduction in taxatilon: ,

[J15/P3/020]

In a closed economy with no govern-

ment, investment increases by $400.

At the new equilibrium level of in-
come, consumption has increased by

$1200. ,‘ _
What is the value of the investment

multiplier?

A 2 B 3
C 4 D 8
[J15/P3/021]

$20 million
' 5

HELPS x MCQ

28. B Only part of
change in income is

" pent, therefore, AD rises

by less than 10 million.

29. B Accelerator
theory suggests that in-
vestment is the function
of rate of change in NY.

LIRS

30, B Since MPC==,

therefore, MPL :%

andK =—L=5.

o l_.q_.

" ANY required = $20 mil-

lior, therefore,
=$4 million
deficit suggests either a

fallin G or an increase in
T thus results in a fall in

_AD. Options A, c&b
. would increase consump-
. lion, investment and X-M,

and hence AD.

2. D Y=C+I|

= Y=40+0.8Y+60
0.2Y =100

100

0.2
Y =500

Y=

33. C People buying
bonds will result in money
going out of the circular
flow of income(leakage)
into. the government’s
vaults. Other options can
be classified as injections
into the flow of income.

34, B Exports and in-
. vestment are ‘classified

as injections, therefore, a
fall in investment will off-
setarise inexports.
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36..In a 4-scctor economy, consisting of

houscholds, firms, govcrnmcnt_ and
forcign trade, the level of national
income is in equilibrium whereC +1 +
G+(X-M)=Y.

What must Y include for an equilib-

rium to exist?

A C+S+M

B C+S+T

C S+T

D S+T+M - ' '
1J16/P3/Q26]

37. What will increase the multiplier effect

of an increase in government spend- :

ing on national income?

7

A an increase in direct taxation

B an increase in interest rates'

C an increase in the marginal
propensity to consume'

D an increase in the marginal
propensity to import

" [J16/P3/030]

t

38. If the marginal propensity to cohs‘bﬁ?{e\‘ :
in an economy in a’ given period )
" becomes greater than unity, ‘this must”

mean that
A’ consumers will be s
than they are earning,

inflation will be génerated in the
economy, ‘

B

C the country will suffer g trade
deficit. IERE A
D the marginal propensity to save

- will be negative,

rod

40. The table shows the levels of co
" sumption expenditure and sqy;

n-

ngs for
given family incomes,
N e
| disposable | consumption )
family income | expenditure | Savings -
(8) ® | O
2000 2150 -150"
3000° 3100 -100
4000 4000 0
5000 4850 - " 150
6000 ' 5650 350
7000 6380 620
N.\‘

Topije 3. 5

- Over the range of disposable income

-ishown, as income rises the m

propensity to consume

arginal

A falls and then rises, '

B
3B o
"D

pending ﬁ)ore -

[NI6/P3/023]

39. Which row correctly identifies net -

leakages from t
income?”

~

he circular flow of

trade surplus
(exports ~imports)
\:&\

FcOW>I

/jx\\
/:\X\

INI6/P3/024]

government budget deficit
(government Spending — taxes)

. falls continuously,
‘rises and then falls.

" rises continuously.

Hi g

private sector surplus
(saving—investment)

X

X
v
v

[N16/P3/025]

3. ¢ The Qreater |y,

~ value of MpG highey

ig the Multipliar effee,

38.D 1=MPC 4+ pg

0.0 Trade supiyg
“(X>M)and budgel defig

- {G>T) refer to ngt i

tion. S>1 refers 1o nel
leakages.

4.8 wpe=X
oY

| It can be noted that AC

is becoming progressiicy

smaller in response 0|

an increase in disposabl
income at constant fae.
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gevel Econ®
e shows the levels of con-

41, h‘i :lagl: expenditure for given family
S::oﬁ’cs
. le consumption
fas:isll))zois:cbome expe&c;iture
— 000 | 2150
3000 3100
4000 4000
5000 4850
6000 5650
7000 6380
A N

42.

43

Over the range of disposable income
shown, as income rises what happens
to the marginal propensity to con-

sume?
A It falls and then rises.
B It falls continuously.

C It rises and then falls.
D It rises continuously.
[J17/P3/024]

In an economy with unemployed
resources the government increases
its expenditure.

When would this be least likely to

increase national income by the full

multiplier effect?
A when the level of autonomous
private investment is increased

B when the marginal propensity to
save is reduced

C  when the government allows
money supply to expand

vyhen the level of interest rates
rises

[J17/P3/030]

Wﬁat could not exist in a closed,
Mixed economy?

A" a balance of trade deficit
a budget deficit
householqg debt
National dept

[N17/P3/022]

44.

45.

46.

47.

What does the accelerator principle
state?

A Consumption is a function of the
rate of change of income.

B Income is a function of the rate of
change of investment.

C Investment is a function of the
rate of change of income. _

D Investment is a function of the
rate of interest.

[N17/P3/023]

What represents a leakage from the

circular flow of income in an

economy?
A a balance of trade surplus
B a government budget surplus
C reduction in funds for research
and development
D re-investment of a firm’s profits
o [NI7/P3/025]

What will cause a downward shift in
the aggregate demand curve of an
economy? FLSIDNI f

A anincrease in firms’ stocks of raw
materials il S

B a decrease in the export of goods

C a decrease in the propensity to

import
D a decrease in saving
[N17/P3/026]

What would not exist in a free market,
open economy?

A autonomous investment

B household saving

C import spending

D indirect taxation

[J18/P3/022]

HELPS fo McCcQ
' AC
4. B MPC:737

42. D ‘An increase in
savings resulting. from
higher inferest rate would
increase the size of over-
all withdrawals from the
circular flow of income
that would weaken the ef-
fect. of multiplier. This
rules out options B & C
while A would not affect
the size of multiplier.

43. A Closed economy
means no imports & ex-
ports. }

44, C By definition.

45. B Taxes cause
leakage and government
spending is an injection
into the circular flow of
NY. A budget surplus
means that government
takes more money in the

. form of taxes than what it

spends, therefore it acts
as net leakage.

46. B It will'result in a
fall in net exports (X-M),
therefore reduces AD.
This rules out option C.
Option A will affect AS
while D will result in a
higher AD.

47. D . An indirect tax

is a form of government
intervention in markets
that is beyond the role of
a government in a free
market economy.
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48,

49

-

50.

What will definitely increase a

country's Gross National Product?

A an increase in income taxes
B an increase in the marginal
propensity to import

C an increase in the value of a
country’s currency

D increased government expenditure
on education !

[J18/P3/025]

Accarding to the accelerator theory,
what determines this year’s net
investment?

A last year’s consumption

B last year’s output

C the change in last year’s
investment

D the change in last year’s national
income

[J18/P3/026]

In an open economy, when autono-:
mous inyestment increases by 100,

equilibrium national income increases
by 300.

Which conclusion can be drawn?

A The accelerator is 3.

B The marginal propensity to con-

& i)
§ <
sume is’ 3
C The marginal propensity to import
a2
is £
3 3
D The marginal propensity to save

plus marginal tax rate is %

[NI8/PY/Q23]

49. D By definition,

50, B 300 _
B 10 3,The

value of multiplier (K) in
the economy equals 3,

-1
K= ToWiG  when he
valug of MPC=§,

K= =3,

2t
-2
3
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2 TOPIC 3.2

circular Flow of Income

The

g EEéA?:Section :

- LIST OF QUESTIONS

(J08/P4/QE) ; l sy
(a) it Is feared that if the government -
increases taxes the level of national
me will fall, Explain whether this is

Inco :
necessarily true. ’ [10]

02 (N08lP4107) ' SRICHE
(2) Explain the factors influencing the level of

investment. In an economy. -+ [10]
Discuss the extent to which'national in-

come Is determined by private investment.
. T e .. 18]

af

(b)

Q3 (Jog/P4/Q7) : IS

A World Bank report In 2007 commented on

the continuing need for major spending world-

wide on Infrastructure on everything from

roads and railways to water and electricity gen-

eration. | e

(a) Explain the effect on national income when
there is an increase in spending on Infra-
structure, erornrher [10)

Q4 (N10/P4/Q8) s ! :
Explain what Is meant by an equilibrium level
of national income and discuss why this equi-
lbrium might change in a developing country,

b P (25]

Q6 W11/P4/Q6) ~
{@) An Increase in investment will raise
nationa! Income but an Increase in the
desire by consumers to save will reduce
national income, boepi b

Explain why this Is the case. = [12]
% (12/pagp) |

(@) ?S part of the measurement of GDP gov-
mments calculate the level of Investment
expenditure, -

Z\r/:;a:] determines the level of investment
el OW do changes In investment expen-
ure affect GDP? [12]

Q7 (N13/P4/Q5) » |
* ' (a) Explain, using the concept of the multiplier,
. " the possible link between a fall in interest

¢ rates and an increase in national income.
e . 2t €10 [12]
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estion 1

It is feared that if the government increases tax'es
the level of national income will fall. Explain
whether this is necessarily true. [10]

[J08/P4/Q6(a)]

ssay

National income is the value of the flow of goods
and services becoming available to a nation during
a given period. Governments can influence the
flow of national income by altering their policy re-
lated to expenditure and levying of taxation.

Tax is a legal compulsion and results in a transfer
of'nioney'frdm individuals and businesses to gov-
~-ermment, therefore, represent a leakage. An impor-
tant classification of taxes is direct taxes such as
income tax and indirect taxes such as VAT, Excise
duty etc.

A change in direct tax rates changes the relation-
ship between disposable income and national in-
come. As a result, the relationship between
planned consumption and national income also
changes i.e. for any given level of income there will
be a different level of disposable income and thus
a different level of consumption and investment.

A rise in direct tax rates with no corresponding
change in government expenditures causes a de-
crease in both disposable income and consumption
expenditure at each level of national income. This
results in pivotal downward shift of the aggregate
expenditure, and thus decreases the level of na-
tional income equilibrium.

anned Jr Y =E
;penditure 7

' 7-‘ .
0 Y, Y, National income

It is now possible to see what happens if the gov-
ernment increases rates of tax so that more tax is
paid at every level of income. As shown in the fig-
ure above, an increase in the marginal propensity
to tax will lower the marginal propensity to con-

sume out of national income,

‘expenditure. An increase in tax rateg with ng

. . i ici
-crease in taxes on goods with low price elastlm?;
- of demand will result in an increase in const

. . na

- ernment revenue and, if this were used t0 fi
| iffs rate as part of protectionist polic
- Thus, we conclude that raising taxes

_number of factors as explained in't

gy 2
Thi

by a swing downwards in the COHZ:;ﬂptli;es 0wy
tion from C, to C,. If we now aqq planneg'} Une,
ment and government spending, v iy Inveg,
aggregate expenditure lines in figure above a the
in tax rates has led to a fall in aggregate :' Tige
ture from E; to E, and as a consequence, th"pc i

librium national income falls from Y toy
2-

However, the final effect on natio
only be estimated by considerin
the coin i.e corresponding chan

I8
€ equj.

nal incope a
g the othe, Side of
ges in 8Overnmey

. . corre.
sponding change in government eXpendityy,

would result in a fall in national income, But whe
if government increases both taxes and expendifyre
by the same amount? The outcome of j; can be

different. For instance, if majority of taxpayers fund ,

the extra taxes by reducing their savings rather |
than consumption and government spends money |
on projects related to welfare of people such 3 |
housing, national income is likely to rise due to the

redistribution of income from taxpayers to the up. f
derprivileged. ' ! '

-Similarly, the effect of rise in tax depends on whom

the increase in tax is levied for instance, raising
taxes on higher incomes will lead to a small de-
crease in.consumption due to lower MPC and larger i
decrease in savings. Thus an increase in tax rate ’
would result in relatively smaller fall in aggregate g
expenditure and hence, a smaller fall in NY. On the
contrary, when increase in tax applies more on

+ lower income group then, due to their higher MP.'C,
“it would lead to a larger fall both in consumption
' and national income ‘

Raising indirect taxes are also likely to rec?uce Al;;
when tax rates are increased on goods with hig
price elasticity of demand. On the contrary, It

. " . . an in-
spending and reduction in savings. Hence

. in cov-
crease in taxation would lead to an increase I ance

. . . rall in-
public expenditure, there might be an oveino o
crease in national income. Similarly, mcreisan help
y =

ing in

ulting !

switch expenditure on local products.res
an increase in AE and NY. o |
\ i does [‘lOt n j

ncome. Overd™

.
Y depend 0" |
he answer

essarily lead to a fall in national i
the effects of raising taxes on N
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on G :

esTio o factors influencing the level of mve]st-

=¢plain 0

® D“;t in an economy. L10]
1 (e extent 10 which national income is

Discus’ rivate investment. [15]

® ined by P
detert™ [NOS/P4Q7]

/ .

EFI‘;.V tment s an important cqmpo_nent of nati.onal

(@ ne. It can be undertaken by either the private
uuxlale u blic sectors, and can involve the purchase
O;tle“? plant and machinery, the building of new
;:o:ses, factories OT schools anq _the construction
of roads and reservoirs. Net additions to stocks of
raw materials, seri-finished and finished goods are
also classed as investment. Note that investment
is not the buying and selling of stocks and shares
or the placing of money in a bank account.
It is important to distinguish between net invest-
ment and replacement investment. The former in-
creases capital stock and the latter simply maintains
capital stock. The two together constitute gross
investment.
The decision taken by private firms to invest is
likely to be based on different criteria to those of
the public sector. Profit is an important factor in
private sector investment, whereas public sector
investment can be a political or social decision.
When a private firm purchases a new machine, the
expectation is that the yield from the investment
will be greater than the cost of buying machine.
The expected yield is difficult to calculate since it
will occur over a number of years. Also, a given
sum of money received next yéar will be worth less
than the same sum received now. Therefore, it is
usual to discount these yields to their present
value and to express the return over the initial cost
a a rate. This rate will be referred to as the mar-
ginal efficiency capital (MEC). Thus if the MEC is
5}:‘::;;5; than the real rate of' interest the investment

precede. The relationship between MEC

and i e i
% rate of interest is illustrated in the figure be-

que ol interest

MEC &

CIN AP AP I
Iy

MEC

--__‘____T____

0 . iviaeink

By investing, a firm can build u'b a stock of capital
goods and, as with labour, capital is subject to the
law of diminishing returns so the MEC will fall. So
long as the MEC is greater than the rate of inter-
est, the investment is worthwhile. In figure above,
investment should cease once ky is reached at an
interest rate r,. A fall in the rate of interest to r, will
lead to a rise in the capital stock from k| to k,. The
increase in capital stock, k, — ki, will require new
investment to take place. The size of the capital
stock, therefore, varies with the rate of interest.

In our explanation above, the rate of interest was
assumed to be the rate at which firms have to bor-
row money. However, a large part of investment by
firms is financed from retained profit. This does not
alter the relationship between the rate of interest
and investment. Thus, the higher the rate of inter-
est on savings, the higher the opportunity cost of
investment and hence the lower will be the amount
of planned investment in the economy;

Although rate of interest is the main factor, influ-
encing investment but several other factors can
also lead to a change in investment. The other fac-
tors include the firm's expectations of the future
economic climate, and business confidence mostly
influenced by a change in technology, a change in
cost of capital, a change in government or its poli-
cies, and more importantly the rumors of an in-

~ crease in the rate of interest.

In the preceding analysis we assumed that invest-
ment was autonomous. This is an assumption,
which we now relax, with investment being partly
induced. This means that investment is related to
national income. :

For instance, when consumer demand increases,
this can have an effect on investment. The rate of
change of national income will thus bring about
changes in the level of net investment through
what is called the accelerator principle.

)
]
f
|
[
I
l Ja
172 1Ka stock of capital

i e
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(b) National income is the value of the flow of goods

and services becoming available to a nation during
a given period. The equilibrium level of national
income (NY) is where planned aggregate expendi-
ture (AE) equal total output or real national income.
The term AE denotes the total spending on goods

and services produced in an economy. It consists
of four elements:

— Consumer spending (C)
— Investment expenditure ()
— government spending (G)
— Net expenditure on exports and imports -
(X - M)’ /
~ and is usually represented by means of the follow-
ing expression: AE=C+1+ G + (x - m)

Determination of national income equilibrium can
be illustrated through simple Keyn

esian analysis
and is shown as follows ! 1

expenditure

AE,
AE=C+]+G+x-m
- AE, -

(-
—>

real national

: mecome
In the graph above all points along the 45* line are
equidistant from both axes therefore they represent
expenditure exactly equal to income(Y=E). The AE
function intersects the 45* line at point '¢'. Thus

+ we have OY equilibrium level of real NY and there
would be no further tendency for NY to change.
Hence the equilibrium level of nationat income oc-
curs where AE equals total output.

Any changes in equilibrium level of NY are the re-
sult of changes in planned expenditure (AE). For
instance a rise in the amount of AE at each level of
NY will increase equilibrium level of NY and a fall
in AE will lower equilibrium national income as
shown in the graph:above.

]

[}

]

L}

|

]
Y,

Changes in planned expenditure are the conse-
quences of changes in all or any of the compo-
nents of planned expenditure. For instance, if do-
mestic consumers collectively alter their purchases
of the nation's real output at each level of income,
the entire AE curve shifts. Factors such as changes
in real consumer wealth, future expectations, inter-
est rate and credit availability may alter consumer
spending. Planned expenditure curve shifts up-

., sumers plan to buy less at each possib

ward when consumets plan to buy m

. . : ore
possible price level or shifts downwar d Wh:, each
Con.

le pri
as depicted in the figure above, Price Jeyy|

Similarly a decline in the anioun of new cay;
' goods desired by the firms, shifis A Pt

. : E curve dow.
ward whereas, an increase in the desired amg,
of investment goods will shift the AE curve unt

wards bringing about a corresponding change i
equilibrium level of NY. The leve] of planned .

vestment changes due to changes in interest rate

business'conﬁdence_, government policy anq tech,
nology. '

Also an increase in government purchases of
-goods and services at each price level wil| increase
AE as long as tax collections and interest rates do
ot change. In contrast, a reduction in government
spending, such as a cut back in order for
hardware, will reduce AE.

The final determinant of AE is net export spending.
When foreigh consumers increase their purchases

ilitary

- nof the nation's commaodities, the nation's AE curve

~ shifts upward also a fall in imports implies an in-
crease,in expenditure on domestic expenditure, The
factors, which alter net exports, are primarily na-
tional income abroad and exchange rates.

- Hence it can be concluded that private investment
is not the only determinant of NY however it can
be argued that in today's modern economies private

investment has an essentially significant role play
in determining NY

Another important aspect of our analysis is that an
increase in AE 'increases equilibrium national in-
come by a multiple of the initial increase in pla_nn_Ed
expenditure through what is known as ,Pumpher
effect. We define multiplier as the ratio of tht;‘
change in NY to the change in AE. The extef“:

change in NY can be measured by the following:

K <. Change in NY
change i injection

1
= MPS+MPT+MP

To elaborate we assume that the economy aslzs'zn
with government sector and there are ““sngps A
resources. The MPS, MPT and MPM arein.cr,easc
and 0.1 respectively and that the ﬁrmoso milbion-
their level of planned investment by $]tc the valué
By applying the formula we can caloula resultieg
of K in this economy and then the

change in NY.

1
2= aroreon "
of change in investment 1.c. $100 x 2.

or' K

NY is 23 times
5 = 250.

hence, effect on
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o1 Econom fos:

1¢ multiplicr effect? The answer
in injection into the economy

Is A ice @ streain of new incomes through ad-

abe
causes tf
gy increasé

spending. For example,lit‘bﬁirms to i;wes(:
. will lead to more people being employe
, this W o incomes being paid to households.
and hence mo:ill then spend part of this increased
Householdsd‘oméstically produced goods (the re-
incore® On‘ll be withdrawn). This increased con-
ainder \V:vi[l encourage firms to produce more
sumpti°“meet the demand. Firms will thus employ
pe toople and other factors of production. This
moge F;:, even more incomes being paid out to
" sieho]ds. Consumption will thus increase yet
:;:in, and so the process coptinues.
gince multiplier is not infinite, thereforg, an %n-
crease In injections would not cause national in-
come to g0 on rising forever. Each time people re-
ceive extra income they will save some of it, pay
some of it in taxes and spend some of it on imports.
Eventually, as income goes on rising, all the extra
injections will have leaked away into the three
withdrawals. At that point the multiplier process
will have ceased; a new equilibrium Y, will have
been reached. . g '
Ir. our analysis of simple Keynesian theory we are
assuming that prices are constant i.e. there is no
inflation and hence any increase in income is
matched by extra production. So, it is the extra
output that this spending generates that we are
concerned with. However, the extent to which rise
in investment causes a change in real NY depends
on the level of employment in the economy. For
instance, if the economy is already operating at full
employment and no extra resources available to

produce output to match with the rising demand -

for both capital goods and consumer goods then
Increase in AE results in an increase in price level

alone with no change in real NY. Also the multiplier .

Fffect becomes weaker with an increase in the ris-

Ing values of mps, mpt and mpm. .

Finally it can be stated that private investment, al-

though very important, is one of the four major

detennimants of national income and also the ex-

tent to which changes in private investment affects
Is subject to certain conditions.

Question 3

./.% V\{orld Bank report in 2007 commented on the con-
tinuing need for major spending worldwide on infra-

structure on everything from roads and railways to
water and electricity generation,

F)xplain the effect on national income when there is an
Increase in spending on infrastructure, ' [10]

[J09/P4/Q7(a)]

Essay

(@) An increase in spending on infrastructure will act
as a rise in injections into the circular flow of na-
tional income. However, this increase in injections
is expected to have a more extensive effect upon
total economic activity. Strictly in economic terms,
the resulting increase in national income is likely
to be more than the rise in injections through what
is known as the multiplier effect.

The theory of multiplier is all important in eco-
nomic analysis for it shows how a change in injec-
tions or leakages will influence national income.
This can be described as the ratio of a change in
equilibrium national income to the change in injec-
tions. Usually denoted by "K" and stated as fol-
lows; ' o .
o AN
A -
. or by rearranging our equation, we can say that;
ANY =K x AJ .
So, for instance, if $5 billion increase in spending
led to a $10 billion rise in NY then the size of K =2,

The rationale underlying the multiplier effect is that
the economy has continuous flows of expenditure
and income through which money spent by an in-
dividual is received:as income by another. It fol-
lows that an initial change in spending will cause a

- spending chain reaction which, although of dimin-

ishing importance at each successive step, will
cumulate to a multiple change in NY.

<

=

To illustrate the multiplier process let's consider an
example of an open economy with government.
Furthermore we assume that there are unemployed
resources in the country and marginal propensity
to save is 0,2, marginal propensity to tax is 0.2 and
marginal propensity to import is 0.1. It follows that
marginal propensity to withdraw (MPW) = 0.5.
MPW is the proportion of an increase in NY that is
“withdrawn from the circular flow. Where MPW =
MPS + MPT + MPM. This means that out of every
$100 increase in income $50 are withdrawn in the
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form of saving, taxes and imports from the circular
flow of NY and the remaining $50 are spent on lo-
cal products. Hence marginal propensity to con-
sume (MPCd)=0.5.

To get an idea how a larger increase in income re-
sults from a given increase in spending, We can
follow the progress of the increased injection
around the circular flow of money as shown in the
table below;

Round | AJ S/(lan) (mPCAS(]j) (mp\Av\ZOﬁ)
I 0] 10 | _ 5 >
’ _ 57 25 2.5
3 - [ 254 s 1.25
4 - | 1254 o063 0.63

5 g

If say, $10 billion are spent on developing infra-
structure. This will create employment for thou-
sands of engineers, technicians and workers who
are directly or indirectly involved in infrastructure
building. Initially the $10 billion spending generates
an equal amount of wage, rent, interest and profits
because spending and receiving income are two
sides of the same transaction.

The new employees will now have wages, profits
will have increased, and total income will have risen
by the $10 billion. If we assume MPC = 1/2 and
MPL 1/2, we know houscholds will spend $2.5 bil-
lion and the remaining $2.5 billion will be with-
drawn as savings, imports and taxes, The addition
to consumption further increases aggregate de-
mand. This time, the firms producing consumer
goods find sales rising and stocks falling. They will
increase output, take on more labour, pay more in
wages and earn more profit. If we continue to cal-
culate increase in expenditure occurring as a result
of this expansion in the economy we will be able to
calculate final change in NY. The effect is shown in
the figure below:

W, JA w
1 b‘/ Jl
a $AI=35 ]
/i 3
© " Yee—— Ye, | Y
AY =0

Top]c 3‘2 S

ﬂag
. . . .
An increase in spending on i frastry, \%

the level of injections from J 1, I g ey, %
move from point ato point , Nal uilipy;,,

H tional H m‘l/ih
tises from Ye to Ye,. The Multiplicy ic tlf?comelﬁug
Cre
K< AY for,
Al
Hence, it follows that 3 major Spendip

structure will cause 3 spending chain tﬁ On ing,
economy. That chain of spending althoJou .
minishing magnitude at each SUccessiye i'

i N

cumulate to a multiple change in Nationg j, \ Vi
Come,

Quiestion 4

Explain what is meant by an equilibrium Jeye) ou |
tional income and discuss why this equilibrium m,'gh;
change in a developing country. [;J]

[Nir)zm-'gq

—

Essay

National income (NY) is the total income eamed by
residents of a country after deducting capital consum-
tion. Equilibrium refers to a situation where there s m
further tendency for national income to change The
Keynesian theory of income determination outlines two
approaches income-expenditure and leakages-injections
in order to explain N'Y cquilibrium.

According to the income expenditure approach th;
level of real national income and, thus, employment s
determined by the level of planned aggregate expend
ture in an economy. Assuming an open economy WIdﬂ:
government the total planned expenditure§ on goq.
and services comprises of consumer spending (Cd)sy(l:l)
vestment expenditure by firms on investment g00d scr:
planned government expenditure on goods m;ndins'
vices (G), exports (X) relating to foreigners dcmrts o
an economy’s goods and services minus lm;(:,en'icﬁ |
which represents the demand for goods an

from abroad. Thus: AE=C+1+G+X-M

. en
There is only one level of national mcon:)ef ;‘;}; oo
gregate expenditure equals the total vallIJ: eqau b
services produced and this is called t comy re
level of national income. When the ecf(:: pationd
this point there is no more tendency * this maY nlof‘ !
come to change. According to KCY"";O cationdl
however, be the full employment leve |
come. . altcf"j“""
The leakages injections apqr_oaf"*h liezzl 0 autf"i]
method of expressing the cthbmm-}ibril’m i whert
income. Using this approach the cqu!
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I\1 =]+ G+ X
withdrawal from the circular
lie cquation savings (S) +
resent sum of withdrawals.
<1, iy estment (1) + government expen-
ide :5 (X) represent injections (J) into the
., National income equilibrium is said to
1 ) 1 total amount of lcakages equals the total
achicve W 16,".6(:“-0,,5_ The two approaches can be
ammro:i ‘]'\Jc ynesian Cross diagram.
sho\\'

— s+ T+

classificd as

LC“Mgcs :hc eft side ol t

. On
qow- Ot 4 jmports (M) rep
axes L
cright S
th + expo
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Y=[
E=C+1+G+X-M

lannCd_
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The first of the two graphs shows that NY equilibrium
occurs at point e where Y +E. The graph just below
shows NY equilibrium where W =1J. However a situa-
tion where Y is not equal to E or W is not equal to J is
called disequilibrium. For instance at y, planned ex-
penditure exceed the level of output. In this situation
there may be shortages of goods and services. Alter-
natively, stocks of goods already produced may be run
down. In both situation, firms are likely to expand their
output and thus national income will increase. On the
E::: i}:lf:d at income level y, ﬁrms.wil! find that they
before th:asmg unsold stocks and it will not be long

y reduce their output thus NY decreases.

If natj :

WOUT;'Z“‘“ Income were at Ye, planned expenditure
of out &ua}f real output. Firms would not change level
changfd It\J;y p"od_uce and stocks would remain un-
i uonal income would thus be in equilib-

real output

. f
tions gpe obyi of the two graphs at y, planned injec-
a

: 0
Nationg) incom: S]¥ BfeatEr than the leakages and thus
ascx%eding pl Wil increase. With planned withdraw-
Unable 1g ) a?""fed Injections, at y, firms would be
panneg inVCStr(:je:;e'" output Thus there would be
: in

o er?“‘put, adins :tOCk and firms would cut
' Vationg| .o 8 10 a decrease in national in-
i s?:m 15 only in equilibrium when

qual planned investment.

fawa]

Now, changes to the equilibrium level of national in-
come can also occur and this can be due to changes in
injections or leakages. According to the Keynesian
model, injections are autonomous, that is, they are in-
dependent of the level of income. So an increase in in-
"vcstment government expenditure and exports results
in a.parallel upward shift in the expenditure function
!eadmg to an increase in the size of the economy, that
1s,“national income will rise. This can be shown graphi-
cally:
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Injections and
withdrawals
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From the graphs above we can see that an increase in
injections has led to an increase in national income
from Ye, to Ye,. This increase in injections, particularly
in a developing country, might have been due to in-
creasing investment by foreign multinationals, or else
the government may initiate development programs
thus increasing in spending in the economy. Also ris-
ing exports, possibly due to depreciation of the
country’s currency also causes X and hence injections
to increase.

Another important point to note is that the resulting
change in national income is much larger than the
change in injections. This is attributed to what is
known as the multiplier effect. Multiplier represents the
number of times national income changes due to 2
given change in injections. Multiplier is denoted by K,
and the value of K can be found by:

change in NY

change inJ

to withdraw (mpw) is the sum of
marginal propensity to save (MPS), marginal p'ropen-
sity to tax (MPT) and marginal propensity to import
(MPM). MPW is inversely related to'the value of t}l:e
multiplier and generally, in a developing economy the
multiplier effect is larger because it has a sn}all.er mpw.
This means that out of a given increase in income,

K=UlVmpw or K=

Marginal propensity

P

£y
o,

-
e 7""‘“ o Y



A Level Economics (Essays)

Topic 3'2 )

people spend relatively greater pr UP(::“;:]"’]]‘:;:O;(;:_
sumption, This leads to a higher mpe (marg éince mpe
sity to consume) in developing cconon}u;s. N
and multiplier are directly related, so a Iug 1er mpe -
to a higher multiplier value and a large increase in
tional income. .

The rationale underlying the multiplier eﬂ’gct is that t.he
cconomy has continuous flows of expend.xtur'c .and in-
come through which money spent by an md.lwdual is
received as income by another. Therefore it follows
that an initial change in spending will cause a spend-
ing chain reaction which will cumulate to a mul'tiple
change in NY. In a developing economy with a higher
mpc, this increase in national income is expected to be
even larger. Another point to note is that the develop-
ing economies usually operate below the full employ-
ment level of output, so increases in national income
are possible here, as the multiplier effect of injections
will occur,

Thus it follows that NY equilibrium occurs when Y =E
or W=1J. Also changes in equilibrium can occur due to
changes in injections or withdrawals but the ratio of
change in NY is greater than the change in injections
or leakages due to the multiplier effect.

Question 5§

-_—

An increase in investment will raise national in-

come but an increase in the desire by consumers
to save will reduce national income,

Explain why this is the case.

[12]
[I11/P4/Q6(a)]

ssay

An increase in investment wi]
into the circular flow of nation
fore, will generate a full multi
income through what is kno
effect. The reason is that al]

and thus al| of it

| act as an injection
al income and, there-
plied rise in natjona]
Wn as the multiplier
the money gets spent
80¢s to boosting aggregate de-

" advance by the
- |
Margina| Propensity to Wwithdraw (Ap1y )

‘\\ﬁh
MPW is the proportion of ap >~

InCreagg ; 5
withdrawn from the circulgr flow, :te ilsntiw thy h
MPS, MPT and MPM, Mps remes”‘ns € Sup, o
propensity to save, MpT i"dicates arg}nal
propensity to tax and Mppm relates ¢ a'g{nal
propensity to imports. The higher p,, ) AUginy
withdrawals the lower is the Multiplier ef}-c;"m of
50 be foypg after y,
red by using g, forc

The value of multiplier can al
change in income has occyr

mula:
change in real GDp AY

initial change in injection ﬁzTJ

The multiplier effect occurs be

vestment spending will create
which will in turn be spent and t

cause a rige i, in.
Incomes, son,. of
hereby Create moy,

incomes. Let us assume that the Mpw <! Th
>

will give us an MpCqg = % Let us also assume thy

there is an increase in planned j

cconomy of $10 billion. The ratj
the multiplier effect js illustrated

nvestment in he
onale underlying
numerically in e

table below:
< .
Round | & Y AC | aw
(8bn) | ($bn) ($bn) | ($bn)
1 10 —f» 10-} 5 5
2 - 541,05 | 25
3 - 25480125 | 125
4 X 1.25
20 10 10

To get an idea how a larger increase in income “';:
result from a given increase in investment .“'Bt:on
follow the progress of the increased mJC:'mls
around the circular flow of money. If 53 lme\'
planned to increase investment by 5_10 bl]llo:chn{-
need to employ thousands of engineers, thiner)'
cians and workers and also need to buy mac
and raw material. profi
The new employees will now have wfqgf::"e (i
will have increased, and total income will A;sllnxxills
by the $10 billion as shown in the table.

polds

mpe L and MPW = l we know househ? 'l

2 L agsbilint

Will spend $5 billion and the remnmmgsa taxes: L

be withdrawn as savings, imPOﬂS. an a5¢s ags"™
addition to consumption further incre
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- rease in investment will raise the level of in-
~A :t;g,.s fromJ, to J. Equilibrium will move from
;c

poirt @10 point b. Nation?l income thus rises from
yeto Ye,. The multiplier is therefore:
1_}_!
Al
Hence, it follows that an increase in investment will
cause a spending chain through the economy. That
chain of spending, although of diminishing magni-
wde at each successive step, will cumulate to a
multiple change in national income.
On the other hand a rise in saving could mean
more funds available to lend which might allow in-
vestment to rise and economy to grow. However, if
everyone saves more then consequently they
spend less. Increased saving and low spending
affects businesses. Less spending means less de-
mand for goods and services and therefore lost
loarydr:or;T for firms, Firms wfll cut back production and
o Th;‘sforl}:ers, So the income of household w.ill
sl phenomenon is called paradox of thrift
Hlustrated by the graph below:;
Wik

0

income

c’caw ¢ .
lt’qd 1 n saVln S at .
F*Iuil"J . Upwarg s'iin -a” levels of income will
. Income i lfnut he savings function,
all from OA to OB, W
. We

M_*Ioplc 32 > pagoe g

khow from the multi
national income wil

matters worse by 'ow.crinptl.on would only make
S inco i i
unemplosman, g me and increasing
Fro i
ves::lnthtt‘. ab.ove it follows that an increase in in
e i i : ]
vestm n wr!l brufg a proportionately larger in-
e dm natlopal Income, while a rise in savings
reduce national income by a larger proportion

Question 6

As part of the measurement of GDP governments
calculate the level of investment expenditure,

What determines the level of investment and how do
changes in investment expenditure affect GDP?

(12]
[J12/P4/Q5(a)]

Essay
Investment is an important component of national
income. It can be undertaken either by the private
or the public sectors, and can involve the purchase
of new plant and machinery, the building of new
houses, factories or schools and the construction
of roads and reservoirs. Net additions to stocks of
raw materials, semi-finished and finished goods are
also classed as investment.
Profit is an important factor in private sector invest-
ment, whereas public sector investment can be a
political or social decision.
When a private firm purchases a new machine, the
expectation is that the yield from the investment
will be greater than the cost of buying machine.
The expected yield is difficult to calculate sinFe it
will occur over a number of years. Also, a given
sum of money received next year will be worth less
than the same sum received now. Therefore, 1t 1S
usual to discount these yields to the.ir'gresent
value and to express the return over the initial cost
as a rate. This rate will be referred to as the mar-
ginal efficiency capital (MEC).Thus if the MECs
finterest the investment
greater than the real rate ol 1nter reen MEC
should. proceed. The relationship t_)_el\ : ﬁ e
and: rate-of intercst is illustrated in the 115

below.
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By investing, a firm can build up a stock of capital
goods and, as with labour, capital is subject to the
law of diminishing returns so the MEC will fall. So
long as the MEC is greater than the rate of inter-
est, the investment is worthwhile. In figure above,
investment should cease once k, is reached at an
interest rate r,. A fall in the rate of interest to r, will
lead to a rise in the capital stock from k1 to k,. The
increase in capital stock, k, —k,, will require new
investment to take place. The size of the capital
stock, therefore, varies with the rate of interest.

In our explanation above, the rate of interest was
assumed to be the rate at which firms have to bor-
row money. However, a large part of investment by
firms is financed from retained profit. This does not
alter the relationship between the rate of interest
and investment. Thus, the higher the rate of inter-
est on savings, the higher the opportunity cost of
investment and hence the lower will be the amount
of planned investment in the economy.

Although rate of interest is the main factor influ-
encing investment but several other factors can
also lead to a change in investment. For instance,
if business executives become more optimistic
about future business, the planned investment
curve will shift to the right; a pessimistic outlook
will shift it to the left. Business expectations may
be based on changes in the domestic political and
economic climate, international relations, popula-
tion growth and stock market conditions.

Furthermore, a rapid rate of technological progress
stimulates investment. The development of a more
efficient machine, for example, will lower production
costs, increasing the expected rate of net profit
from investing in new machine. Finally, business
owners look to expected profits after taxes in mak-
ing their investment decisions. An increase in busi-
ness taxes will lower profitability and lowers the

level of planned investment; a tax reduction will
stimulate investment.

In the preceding analysis we assumed that invest-
ment was planned or autonomous. This is an
assumption which we now relax, with investment

‘ ‘ p." m
being partly induced, This means thy, .
i

is related to national income, When m;,«,s‘mtn
consumer demand increaseg can I;for instanc:'
on investment, The rate of change O;Ve 0 ey
come will thus bring abo nalj

net investment through

ut C*}anges ing eO‘r.nl if,
ves What is ca][g the . ot
tor principle, actelgn
GDP is the total market va)ye of
services produced within g ¢,
time period. The level of Gpp
planned aggregate expenditure L.
AE=C+I+G+(x-m)
The term AE denotes the tota] s

and services produced in an ec
of four elements:

all fina| 00
uptry in one y.
e. ed by

d! ing

Onomy. |t consig

*  Consumer spending (C)

*  Investment expenditure (1)

*  government spending (G)

*  Net expenditure on exports and imports
(X-M),

Investment is one of the four components of
planned expenditure therefore, a change in the
level of investment expenditure would in urn
change the planned expenditure leading to a pro.

pending on goOds {

portionately greater change in the country’s GDP |

through what is known the multiplier effect,

We define multiplier as the ratio of the change in
GDP to the change in planned expenditure, The
extent of change in GDP can be measured by the
following:
K - Change in GDP or Ke L
~ Change in injection MPS + MPT +MPM

To elaborate we assume that the economy is 0pe?

~ with government sector and there are unemployed
resources. The MPS, MPT and MPM are 03, 0l
and 0.1 respectively and that the firms lnC'fe_“:
their level of planned investment by $100 mlllullu;
By applying the formula we can calculate the \:inv
of K in this economy and then the resui
change in GDP.

1
T03+0.1+0.1

. el
hence, effect on GDP is 2.5 times of chang
vestment i.e. $100 x 2.5 =250.

The cause of multiplier effect i.
in injection into the economy W
of new incomes through addmonah.l
example, if firms to invest more, td hence
more people being employed m:is Ouschol";
incomes being paid to ho‘us'e—ho séd incort ¢
will then spend part of this incre? -nderwnlll“’
domestically produced goods (ther

2.5
n in-
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s that, any incre®

| spendits
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This increased consumption will en-
m) roduce more goods to meet the
o firms 10 Il thus employ more people and
duction. This leads to even
othef fac cs being paid out to llou:c)cl)olds. Con-
mor¢ | coﬂ"." thus increase yet again, and so the
amption W ses. Since multiplier is not infinite,
conu'"mrc;\se in injections would not cause
. m:)::,c {o go on ris-ing forever. Each time
pational 112 extra income they will save some

, some of it in taxes and spend some of it
of i PAY * s enice income generation would be-
o sively smaller after each transaction.

pus a change in the level of investment is ex-
:ccted to result in @ proportionately larger change

in GDP of an economy.

demand: ors of Pro

on imp

Question 7

Explain, using the concept of the multiplier, the
possible link between a fall in interest rates and an
increase in national income. [12)

[N13/P4/Q5(a)]

Essay

In the money market the condition for monetary
equilibrium is that the rate of interest will be such
that everyone is just willing to hold the existing
supply of money, i.e, interest rate does the job of
equating the quantity of money demanded to the
available supply and hence produces monetary
‘equilibrium. In the figure below, we see how the
Interest rate produces monetary equilibrium.

A

rate of
Interest

Re ]

LP

Me moncy'
Fig. 1

EQUilibrium is achiey
st the Quantity of
Were above Re
S Surp| ’

u

ed with a rate of interest Re
om;y Me. If the rate of inter-
People would have money bal-
US 1o their needs, They would use

Y securit
"OUld driye up t:““es and other assets, This

¢ price of securities and drive

down the rate of interest toward equilibrium. Simi-
larly, if the rate of intcrest werc below Re, people
would have insufficient money balances. They
would sell sccurities, thus lowering their prices and

r.aising the rate of intercst until it reached the equi-
librium level.

Changes in money supply will affect national in-
come via changes in the rate of interest. Let’s as-
sume that monetary authorities seek to adopt easy
monetary measures and attempt to increase money
supply, say, by lowering liquidity ratio of commer-
cial banks or buying securities through open mar-
ket operation.

art 1 art 2
rate of P rate of d
interest interest
» \ MS MS, 0

Lp
0 Me Me, mo;cv
’ desired investment
expenditure
Fig. 2

These measures shift the supply curve of money
from MS to MS, as shown in the first part of the
graph. Consequently, there is excess supply of
money at the existing rate of interest Re. People
still wish to hold only Me of money balances, but
Me, is now available. In order to eliminate their
excess holdings of money, People attempt to buy
bonds and securities. This attempt of buying
bonds and other financial assets increases their
price and subsequently lowers the rate of interest.
When interest has fallen to Re, the quantity of
money demanded will have risen to equal the avail-
able supply of Me,. Monetary equilibrium is, thus
re-established, though at a lower rate of interest.

The curve in the part 2 of the graph is called a
marginal efficiency of investment curve (or just a
demand for investment curve). MEC curve shows
the relation between planned investment and the
rate of interest, assuming all other things are equal.
It is derived from prospective yield of one more
unit of investment and the cost of ‘obtaining it.
Firms make their investment decisions by compar-
ing MEC with the rate of interest. For instance, if
the expected real net rate of return on an individual
project (MEC) is greater than the real rate qf
interest, investment is profitable and hence is
undertaken. Thus investment demand curve shows
that the lower the rate of interest, the larger will be
the number of investment opportunities that will
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show a profit and, hence, the larger the volume of other factors of production, f
investment expenditure that firms wish to under- more incomes being paid out tg

take.

h 2 d to &
sumption will thus increage . ("5 h (::n
Note that, because both parts of the Figure above process continues until Ny rises by f ] ang % [:m
have the interest rate on the vertical axis, the inter- effect. "Dh»
est rate can be compared between the two. Both

parts show an initial equilibrium with the quantity
of money of Me and an interest rate of Re. When
the equilibrium is disturbed, say due to an increase
in the money supply to Ms,, the rate of interest
falls to Re,. Part (ii) of the Figure tells us that the
fall in the interest rate from Re to Re, increases
desired investment expenditure from Ipto I

So far, we have seen that an increase in the money
supply leads to a fall in the interest rate which, in
turn, results in an increase in desired investment
expenditure. We extend our analysis to finally fig-
ure out how these changes subsequently affect NY.

Withdrawals
& Leakages
1\ W=s+t+m
J I L,=L+G+X
. 1, =1+ G+X
0 >
/ Y, —Y, NY

Fig. 3

Equilibrium NY can be found by W = J. The with-
drawals function is the vertical sum of the net say-
ing, net taxes and import functions. Similarly, the
injection function is the vertical addition of the in-
vestment, government expenditure and export func-
tions. Initially, the equilibrium can be located at
point a, indicating Y, as the equilibrium level of N,
A rise in investment expenditure shifts the J func-
tion upwards and will cause NY to increase

(Y, —Y,) by more than the increase in investment
(bc). The number of times that the increase in in-

come (NY) is greater than the increase in invest-
ment is known as the multiplier (k).

So an increase in injection into the economy will
produce a stream of new incomes through addi-
tional spending that causes a multiplier effect. For
example, if firms to invest more, this will lead to
more people being employed and hence more in-
comes being paid to house-holds. Households will
then spend part of this increased income on do-
mestically produced goods (the remainder will be
withdrawn). This increased consumption will en-
courage firms to produce more goods to meet the
demand. Firms will thus employ more people and



